2
Prczwous IPE 5.

SIIWEII PAPERS |

TT1: 7w 1]-2024 (TS)



% JR MATHS-1A /2 TS-IPE 2024 SOLVED PAPER

[S——
PREVIOUS PAPERS
IPE: MARCGH-2024(T3)
(]
Time : 3 Hours MATHS-1A Max.Marks : 75
SECTION-A
I.  Answer ALL the following VSAQ: 10x2=20
1
1. Iff:R- {0}— Ris defined by f(X) = x3 - 3 , then show that f(x) + f{(1/x) = 0.
2.  Find the domain of the real function f(x)= (Xz B 1) (x+3)
3. If x-3 2y-8 = 5 2 then find the values of x, y, z and a.
z+2 6 -2 a-4
1 o o
4. If ®isacomplex cube root of 1 then show that | ®?> 1[=0
o> 1 o
Let a=i +2]+3k, b=3i +]. Find a unit vector in the direction of g+ b
Find the vector equation (V.E) of the line passing through the point 2T+37+E and parallel to
-2j+3k.
7.  Ifthe vectors 2i +Aj—k, 4i — 2j+ 2k are perpendicular to each other then find A.
— [o] o
8.  Prove that Sn78°+cos132°= ISTl 9. Find the value of sin282% -sin222%
10. Show that Tanh'13 = 1Ioge3 .
2 2 SECTION-B
II. Answer any FIVE of the following SAQs: 5x4=20
10 01
11. Ifl= E= then show that (al+bE)3=a31+3a2bE.
0 1 00

12. If a, b C are non-coplanar vectors, then prove that the four points 3g+ 2b— 5(; —3a+8b-5¢ and

—3a+ 2b + ¢ are coplanar.
13. For any three vectors a,b,c prove that [p+c c+a a+b]=2[abc].
14. Prove that tan70°~tan20° = 2 tan 50°  15. Solve SINX +\/§COSX =\/_

11 11 1
16. Prove that Tan 15 +Tan 5+T31 18 X 17.1na AABC if a:bic= 7:8:9, then find cos A : cos B: cos C
SECTION-C

III. Answer any FIVE of the following LAQs: 5x 7=35
18. LetA={1,2,3}, B={a,B,y}, C={p,q,r} and fA—B,g : B — C are defined by f ={(1,a), (2,¥),(3,8)},

2={(0,9),(B,),(Y,p)} then sholw thalt fand g are bijective functions and (gof)_1 = f_log_1

n
19. Using P.M.I, prove that 14 E+7_10+ ----- n terms= 3n+1‘v’neN.
1 a &
20. Showthat |1 b2 b= (a—b)(b-c)(c—a)(ab+bc+ca)
1 ¢

21. Solve x+y+z=1, 2x+2y+37z=6, x+4y+97=3 by using Matrix inversion method.
22. Ifa=2i+j-3kb=i-2j+kc=—i+j—4k andd=i+j+k then compute|(axb)x(cxd)]
23. If A+B+C=180°, then show that sin2 A+sin2B+sin2C=4sinAsinBsinC.
24, Ifry=2,rp=3,r3=6andr=1, provethata=3,b=4and c=>5.
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IPETS MARCH-2024
SOLUTIONS

SECTION-A

1
Iff: R-{0}— Ris defined by f(x) = x3 - —3 then show that f(x) + f(1/x) = 0.
X

Sol: Given f(x):x3—i:>f(l)=i_x3,
x3 x) x3
f(x)+f(%]=[){g—?)+(%—)@(}=0
2. Find the domain of the real function 2;
xXc=1)(x+3)
Sol: Given f(x) is defined when (x? -1)(x +3) 20
S>X-D(X+D)(x+3)#0=>x#1-1,-3
.. Domain = R—{1,-1,-3}
3. | X3 78121 ° 2 | then find the values of X, Y,z and a.
z+2 6 -2 a-4
Sol:

. Xx-3 2y-8 5 2
Given =
z+2 6 -2 a-4

On equating corresponding elements, we get x—3=5 = x=5+3=8; 2y—8=2
=2y=2+8= ,2/ y:;lgd =y=5
zt2=-2=z=-2-2=-4; a4=6=a=61+4 =a=10

s x=8, y=5, z= -4, a=10
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1 o o
4. If ® is a complex cube root of 1 then show that |y, ®2? 1(=0
o’ 1 ®
2 2 2 2
1 o o l+o+0° 1+o+0° l+o+o° (.-R1—>RI+R2+R3)
Sol: LHS=|® o 1 = O] w? 1
o 1 o o? 1 0]
0O 0 O
=lo o 1 =0=R.HS(- 1+(o+m2=0)
o 1 o
5. Let a=i + 27+ 3k and b= 3i_+T. Find a unit vector in the direction of 3+ p

Sol:  Given a=i+2j+3k, b=3i +j, then
a+b=(+2j+3k)+ @i +j) =4i +3j+3k

—|a+bl=V42+32+32 =416+9+9=+34

Reauied un a+b  4i+3j+3k

. Required unit vector=7="+, =

a |a+b| J34

6. Find the vector equation (V.E) of the line passing through the point 2T+3T+E and parallel

to 4i —2j+3k.
Sol:  Given point A(a)=2i +3]j +k and given vector b=4i —2j +3k
V.E of the line passing through the point A(a) and parallel to the vector b is T=a+1tb, te R

= T=(2i +3j+k)+t(4i -2j+3k),te R

7. If the vectors 2i + Aj—k and 4i —2j+ 2k are perpendicular to each other then find A.
Sol:  Let a=2i+Aj—k, b=4i —-2]+2k

Givenalb=ab=0
(21 +Aj—K). (41 -2j+2k)=0

= 2(4)2A-2=0 =8-2A-2=0=6-2A=0 = 2A=6 =A=3
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Sol:

; -1
Prove that Sin78°+co0s132°= \/?)T

L.H.S=sin78°+¢c0s132°= sin 78°+ cos(90°+42°)

0 0 0__ /190
= Sin78°-sin42°= 2005(78 +42) (78 42) [‘.‘QnC—QnD=2COS(C;D

C-D

Frl%

TS-IPE 2024 SOLVED PAPER

|

= 2c0s60°sin18°= Z[

[0} [0}

. 1 . 1
Find the value of S|n282— —S|n222§

Sol:  We know sin?A—sin?B =sin(A+B)sin(A-B)

1° 1° 1° 1°

(0]
5 sin282; ~sn?22> —sin(@2 +22, ).in(2, —223)

S

=— (Sl Nn60°cos45°+cos60°sin 45°)

di

=sin(105°).sin 60°= sin(60°+45°).
Jé L1 f3
272

_0
Show that Tanh™* =

V31
2z

3
22 22

V3(/3+1)
42

10.

1
ElogeB

Sol: ~ Weknow Tanh™1x = —Ioge(i+ X )
X
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11.

Sol:

(S

SECTION-B

10 01 o
If | = o 1l E= 00 then S.T (al+bE)3=a31+3a2bE, where I is unit matrix of order 2.

. I_10E_01
leen—011 “lo o
10 0 1] [a 0] [0 b] [a b
a+bE=a +b = + =
01 00 0 a] [0 O 0 a

s [a b’ [a b][a b][a b] [a®+0 ab+ab|fa b
LH.S= (al +bE)® = - -
0 a 0 aj|0 af|0 a 0+0 0+a2ll0 a

10 0 1] [a® o 2| [a® 3a’b
RHS:a3I+3a2bE=a3[ }+3a2b[ ]z + 0 3ab = | (2
o 01 0 0] [o & |0 O 0 a

- from (1), (2) L.H.S=R.H.S Hence, proved.

12.

Sol:

Show that the four points —a+4b — 3¢, 3a+2b-5¢, —3a+8b—5¢,—3a+2b+T are
coplanar, where 3, b, © are non-coplanar vectors.

We take OP=-a+ 4b—3¢,0Q=3a+ 2b-5¢,
OR =33 +8b - 5¢, 0S=—3a + 2b + T, where ‘' s the origin.
~.PQ=0Q-0P =(3a+2b—5¢)—(~a+4b—3c) = 43— 2b—2¢
PR=0OR-OP =(-3a+8b-5C)—(-a+4b-3c) =—2a+4b-2¢
PS=0S-0P =(-3a+2b+C)-(-a+4b-3C) =—2a-2b+4c

4 -2 -2
Now, [PQPRPS|=|-2 4 -2/[abt] =[4(16-4)+2(-8-4)-2(4+8)][abT]
2 -2 4

=[4(12)+2(~12)-2(12)] [a b €] =[48-24-24][abc] =0x[abc] =0
So, % PR, PS are coplanar.
Hence the four points

P,Q,R,S are coplanar.
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13. For any three vectors a b,c prove that [5 +c c+a 5+5]:2[556] .
01

Sol: [B+E; c+a a+5 =1 0 1[abd=[000-1)-1(0-1)+1(1-0)][abc]=Fabd]
11

14. Prove that tan70°—tan20°=2tan50°

Sol:  Consider 70°-20°=50° = tan(70°-20°) = tan50° Apply tan(A-B) formula

. tan 70°—tan 20° — tan50°=s tan 70°—tan 20°
1+ tan 70°tan 20° 1+ 160700 co7® | [+ tan20°=tan(90°-70°%) = cot 70°]
— _ o]
=>M:thOO:W:tanSW:taﬂm—tanmo: 2tan50°
+

15.  Solve SinX ++/3cosx=+/2

Sol:  Given equationis SINX + J3cosx=+/2

On dividing by /12 + (+/3)? = V1+3=+/4 =2, we get
1. .43 V2

Esmx+7cosx =7:> sin30°sinx + cos30°cosx =

sl

T . . T b4 T T o
:>cosxcos€+smx smE:cosZ:cos X—E :COSZ' Here PV is 00 =—

.. General solution is given by 6 =2ntt o, ne Z

:X—E:ZnniE:x:ZnniE+£,ne Z
6 4 6
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16. Prove that Tan™! 1, Tant e Tant i_=
2 5 8 4
Sol: We kIlOW,Tan_lx+Tan_1y=Tan_l Xty
1-xy
1 1 5+2
i+7 _—
_ 17
.'.Tan_11+Tan_1£:Tan_1 2 _5 =Tanl—’¢kd =Tan 1=
2 5 11 10-1 9
1-=.=
2’5 10
7 1 56+9
7+i
1| 98 | 1| 72
L.H.S=Tan"1g+Tan_1% =Tan L 71 =Tan 25—
9'8 yz3

- Tan‘l(%)z Tan_llzg —RHS

17. In a AABC if a:b:c=7:8:9 then show that cosA:cosB:cosC =14:11:6

Sol: Given that a:b:c =7:8:9 = a=7k, b=8k, c=9k

Now cosA = b° +¢2 a2 _ (8K)* +(9K)* — (7k)? _ K*(8° + 9%~ 7°)

_64+81-49 96 2
(2E)©) (26O 3

a® +c® -b? _ (7k)® +(9k)* — (8k)* _ k*(7* +9°-8°)
2ac (2)(7k)(9Kk) (2)(7)(9)(k?)

_49+81-64_ 66 11
@M @O 21

cosB =

a2 +b%-c?  (7k)% +(8k)% - (9k)® Kk?(7%+8%-9?%)
cosC = = =
2ab (2)(7K)(8K) (2)(7)(8)(k?)

_49+64-81_ 32
ME)  A0NE)

.-.cosA:cosB:cosC=g:£:g= 1 E 121 E 121 E =14:11:6
3217 3 21 7

_2
=
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SECTION-C
18. Let A = {1,2,3}, B={a,B,y}, C={p,q,r} and f:A—>B,g : B > C are defined by
f={(1,0), (2:Y),(3,8)}, g={(c,q),(B:1),(v,p)} then show that fand g are bijective

functions and (gof)~1 = f-log!

Sol:  From the ordered pairs of f,g it is clear that both f & g are one-one and onto, hence bijective.
Given f={(1,0), (2,v),(3,)}, g={(c.q).(B.).(v.p)}
= gof={(1,9),(2,p),(3.0)}=(gof) "= {(q,1).(p,2),(r,3)}
Also g ={(q,00), (t.p), (P}, £ = {(ou1), (1,2), (B.3)}

= flog™ = {(q,1), (p.2), (r.3)}.
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19.

Sol:

(S

1 1 1
i .M. —t—+—+..... +n terms=
Using P.M.I, prove that14 27 710 I+l

To find nth term:

1,4,7... are in A.P with a=1, d=3

s Tp=at(n—-1)d = Tp=1+(n-1)3=1+3n-3=3n-2
4,7,10... are in A.P with a=4, d=3

.. Tn=4+(n—1)3=3n+1

. nth term is Ty = 1
(Bn-2)(3n+1)
Let S(n) : 1 i+ 1 + ! __n
14 47 710 Bn-2)(3n+1) 3n+1
1 1 1 1
L.H.S of §(1 _—:—; RH.Sof §(1)=————==
Step I: S0 14 4 D 31+1 4
. LHS =RHS.
So, S(1) is true
Step 2: Assume that S(k) is true ,for ke N
1 1 1 k
Sk : — ...t = .. (1)
14 4.7 710 Bk—2)(3k+1) 3k+1

Step 3: We show that S(k+1) is true

1 1
Bk+D)-2)Bk+D+1) ~ (3k+1)(3k+4)

(k+1)th term =

On adding (k+1)th term to both sides of (1), we get

1 1 1 1 1
LHS = —t—t..... + +
14 47 710 Bk-2)(3k+1) | (Bk+1(3k+4)

k 1
= +
3k+1 (Bk+1)(3k+4)

KBk +4+1 3K +4k+1
Bk+1)(3k+4) (Bk+1)(3k+4)

(K+D @B+  k+1  k+1 _  k+1 _RHS
M(3k+4) 3K+4 3k+3+1 3k+D+l

. L.H.S =R.H.S.
So, S(k+1) is true whenever S(k) is true

Hence, by P.M.I the given statement is true, for all ne N
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1 a? al
20. Show that|l b? b° =(a-b)(b-c)(c—a)(ab+bc+ca)
1 ¢ ¢8
1 a2 & 1 @ a

Sol: LHS=[1 b2 b3 =0 b*-a® b*-ay (“Ry=R,-R,

1 2 3 0 ?-a? 3B-a% R3=R3-Ry)
1 a2 ad

=|0 (b-a)(b+a) (b—a)(b?+ba+a?) [+a°—b*=(a-b)a—b)

0 (c-a)c+a) (c—a)(c®+ca+ad) a’-b® = (a-b)(a® +ab+b?)

1 a a>

=(b-a)c-a)|0 a+b a’+ab+b? ( Taking (b—a) common from R, and
0 a+c al+ac+cl (c—a) common form R3)
1 a a>

=(b-a)(c-a)|0 a+b a® +ab+b?
0 c-b ac—ab+c?-b?(-R3—>R3-Ry)

1 a2 a
=(b-a)(c-a)|0 a+b a® +ab+b?

0 c-b a(c-b)+(c+b)(c—b)
1 a’ a>
=(b-a)(c-a)|0 a+b a’ +ab+b?
0 c-b (c-b)(a+b+c)

1 a2 a3

=(b-a)(c-a)(c—-b)[0 a+b a®+ab+Db?
0 1 (a+b+c)

= (b-a)(c—a)(c—b)l(a+ b)(a+b+c)—(a® + ab+b?)]
= (b-a)(c—a)(c—b)[(a+b)? + c(a+ b) — (a2 + ab+ b?)]

— (b—a)(c—a)(c—b)[(aZ + b + 2ab) + (ca+ cb) ~aZ — ab 7|
=(a—b)(b—c)(c-a)(ab+bc+ca)=RHS
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21. By using Matrix inversion method, solve x+y+z=1, 2x+2y+37=6, x+4y+9z=3 .
Sol:  Matrix equation of the given system of equations is AX=D, where

111 X 1
A=|2 2 3;X=|y|.D=6 . The solution of AX=D is X=A"1D
1 4 9 z 3
First we find A1

111
detA=|A=12 2 3=1(18-12)-1(18-3)+ 18- 2) = 1(6)-1(15)+1(6) =6 —15+6=3#0
1 4 9

The co-factor matrix of A is

[ 12 3 2 3 |2 2]
+ - +
4 9 |19 1 4
(18-12) —(18-3) (4-2) 6 -15 6
11 k1 p 1
. d *h o —‘1 4‘ =[-(9-4) (9-1) -(4-1|=|-5 8 -3
(3-2) -(3-2) (2-2 1 -1 0
11 |11 111
+ - +
|23 23 |2 2]
6 -5 1
=AdA=|-15 8 -1
6 -3 0
6 -5 1]
A_lzde%A(Ade):is 15 8 -1
6 -3 0
6 -5 171 6—30+3 21 7
Now,X:A—lo=i3 -15 8 -1||6 =_§1 ~15+48-3 =%1 30 |=|-10
|6 -3 0]3] 6-18+0 ~12| | 4
.
X=|y|=|-10

.. The solution is x=7, y=-10, z=4
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22. Ifa=2i+j-3k,b=i-2j+k,c=—i+j—4kandd =i +j +k, then compute |(5x5)x(5xa)|

Sol: Given a=2i+ -3k, b=i—2]+k C=—i+]—4Kk,d=i+]+k,

i ] k
axb=2 1 -3=i1-6)-j(2+3)+k(-4-1)=-5i =5] —5K -.cevvrr..... (1)
1 2 1
i j k
txd=-1 1 -4 =i1+4)-j(-14+4)+K(-1-1)=5i =3] -2k  eoeerrrn. )
1 1 1
From (1) & (2),
ik
~ (@xb)x(exd) = ‘55 ‘2 ‘2 — 1(10-15) - ](10+ 25) + K(15+ 25) =51 —35] + 40k

=5(—i —7] +8k)
“ |(@xb)x (Exd) |5y (-1)2 + (=7)2 +82 =51+ 49+ 64 = 5,114

23. If A+B+C=180°, then show that sin2A-+sin2B+sin2C=4sinAsinBsinC.
Sol: L.H.S =sin2A+sin2B+sin2C

=23in(2AJ2rZB )COS(ZA;ZB )+sin20 [ sSnC+sinD =2sin C;DCOSC;D]

= 2sin(A+B)cos(A—B)+2sinCcosC [-sin26=2sin6coso|

=2 sin (180°-C) cos(A—B)+2sinCcosC [+ (A+B)+C=180°]

= 2sinC cos(A—B)+2sinCcosC [~ sin(180°-0) =sing]

= 2sinC[cos(A—B)+cosC] [Taking 2sinC common]

= 2sinC[cos(A—B)+cos(180°~(A+B)] [*.* (A+B)+C=180°]

= 2sinC[cos(A—B)—cos(A+B)] [ cos(180°-6) =— cosO |

=2sinC (2sinA sinB) [ cos(A—B)—cos(A+B)=2sinAsinB]

= 4sinA sinB sinC = R.H.S
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24.

Sol:

(S

Ifri=2,rp=3,r3=6, r =1, then prove thata=3,b=4,¢=5.

Given r{ =2,1p=3,r3=6 andr = 1, then

A=Jrrory =/1x2x3x6 =/36 = 6

Now, r=é=> 1=9 .5=6
s s
A A
i h=——70 = s—a:—:E:B
s—a n 2
..s—a=3=6-a=3
=a=6-3=3
(i) r2=i = S—b=é=é=2
s—b 5} z
.S—b=2=6-b=2
=>b=6-2=4
A_S
3=——= sS—Cc=—=>=1
(i) '3 c s ﬁ/





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /OK
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 2400
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages false
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 2400
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.00000
  /EncodeGrayImages false
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 2400
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.00000
  /EncodeMonoImages false
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


